SN NP2 A D

A £ O &

AR g A A

33 NN =29
el 228 ME2Y (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
KIS 2| H 2,628,216 3,098,647 A470,431
= 67,017
= 2,561,199
ANZAE =2 348,446 426,842 AT8,3%
= 43,607
[Ea 304,839
228 NE=2Y 238,427 301,382 A\62,955
= 43,607
s 194,820
KAl ME et 25,819 33,449 AT7,630
201 er23 | 18,899 25,234 26,335
01 At2teltl 17,740 23,640 25,900
o XA a8 50,0002 =212 1,050
oA &= oied 100,000 7 700
o XAl ZAIMSR & GHA A
50,0003 *7 350
SXIYH HE EF ZUNC L U2B(6E)
60,0002 +20H 1,200
SXAAAR S (UM AAL, BAIE
Zalol 2oTAlel ) BAag
70,0002 102 +23] 1,400
SXIYH HELRE 22 Sz
8,000 x5 +76 3,040
cHRLLEYR geoas]
500, 000& x20H 10,000
2 s5=34l 1,159 1,54 A435
S NgA UM & CHEZ Lot 25 R
= 03 +2,4000H 1,032
oXI&Al IXM £ o2 S| €5 23
2,530 *500H 127
202 04l 1,600 3,200 21,600
01 2LHoIH 1,600 3,200 /1,600
oHOl MFEAL R 2HEMA 2=
20,0003 x4 20 1,600
306 E= 5,320 5,015 305
01 &2d= 5,320 5,015 305
cAgNAAE EAS
5,320,000& 1A 5,320
KA S L K& 84,865 132,255 A47,390
201 2= 13,800 9,400 4,400
01 AtR2t2lt] 8,800 6.400 2,400
oA E8E =115 gl EY S 42
= 300, 000& * 1274 3,600
SKTM MEER =8 MRES
10,0002 105122 1,200
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SA MR A
BH: NYHE 29
el 228 ME2Y (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oM E¥& ZElE(SED]) HIE ni
400,000 x15+62 2,400
o NgA =28 MM IXAN M 1,600
-2 g IXA 80,0003 *102 A 800
-=Sg1XAM 80,0003 *102 A 800
02 S5=g4l 5,000 3,000 2,000
oM E¥E Tl (S8)]) sXEs
500,000 %102 5,000
308 AHAIEMSOIE 71,065 62,855 8,210
183 S| 2SO ZB S HASAIE 71,065 62,855 8,210
o XMICH XAl BEAARERH(SKI2)
71,064,570 71,065
KNYA SUHS 32,683 38,907 NB,224
201 Ler23 | 31,883 37,307 NDb,424
01 At2t2ltl 24,168 29,448 A5,280
SXITAM OXA & CHHZ M
88,0003 x208 A%65 10,560
SXIYH AT Y2 E2S M
77,0002 %1204 *73] 6,468
SXYH RIS = ALEE
15,0002 105122 1,800
oXIAN £8E ZgiH EH S A28
300,000 *5H 1,500
STIEAl STAD 1 2|
8,000 x4 120! 3,840
02 s3=gHl 7,715 7,859 A144
oXgA LA & 2 &E 2ERS 7,715
-28 fH# 4302 *15,0000H 6,450
=/ *# 2,530 *5000H 1,265
202 0o4dl 800 1,600 A800
01 =LHNHI 800 1,600 A800
CFULRU IHE LMIZE ZA
20,0003 x4 10! 800
HE S JFE AL AL 95,060 96,771 AN AN
= 43,607
T 51,453
201 er23 | 94,860 9,371 21,51
= 43,607
= 51,253
01 At2teltl 94,860 9,371 1,511
oF8 MFIIA HAE+E S
5,90081%14,000=*110% 90,860
= 41,800
o 49,060
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SN NP2 A D

B PNE 29
&t 88 NMER2Y (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SOAME FHIH 2B44E S
7,300 302 %110% 241
= 110
2 131
S ENEIESIEETE-NSN =
17,0003 x20=%110% 374
= 170
2 204
SFEIIAZAl ARBE(EY S)
250,000 *4H 1,000
= 450
Ea 550
clEH S2 EHE S
77,0003 * 15K 1,185
= 520
2 635
oFeDI HSAIIABAINE 2ELY
s 70,0002 * 13 15| 910
2 410
2 500
oFelz e2E Il S
8,000 x2& 20! 320
= 147
Ea 173
202 04l 200 400 A200
01 =LHA LI 200 400 A200
oINE =S JIAZA 20,0002 x2& x5 200
KAl &2t 110,019 125,460 A15,441
N2A =23 & 72,132 86,300 14,168
201 er=23y| 49,132 60,300 211,168
01 AtR2t2|HI 17,056 20,256 23,200
oMt AFEH SOH(EHAM) S =2
120,000 »2021 2,400
SRILAl = JIAR =22
80% *30,00024 2,400
XM S=(HY) 2XM X & W&
72,0002 *807K 5,760
o KA Mg =+ 2= S MH
77,0003 * 120K 924
oSE(ME)LAAN 2 ZREHEH S M2
= 250,000 * 107K 2,500
oM d-gF S = S|
8,000& x3&»128& 3,072
02 S3=gHl 32,076 40,044 AT,968
o XAl Bte=2 SAA S &2 2ERS
4302 +5,0004 2,180
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SA MR A
BH: (UHY 29
Rl XA Z2tcl (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SNZN =23 S 22 fEe2
2,530&*7,00024 17,710
oYX HSE ADIE FIAAE S
244 726,000& * 128 8,712
oMY XY HSE ADE AXAAEH S
2= 50,000& * 122 600
oHIZAE SEUAALE R EH]
242, 0003 x 122 2,904
202 04dl 1,000 2,000 21,000
01 2L AL 1,000 2,000 21,000
SN B S XX
20,0003 x2& 25! 1,000
303 Zal= 22,000 22,000
01 Za= 22,000 22,000
SKTM = P+ & -8 L= 22,000
=8 SclJ| F& 11,000,000& * 12} 11,000
-HgH =010 F& 11,000,000 x12] 11,000
Hel+=g 2| 37,887 39,160 A1,273
201 fet=3| 6,418 7,960 A1,542
01 At 22|l 6,418 7,960 A1,542
oMel+e JIeAHE S =8
80 %10,0004 800
oMel= DM S M=
72,0003 »402 A 2,880
oMol d EE22 S MEA (Y,
2He) 77,0002 = 129K 924
oN2+=e TS0l GRAAE 0182
34,5002~ 12 414
oJ|R=S AR BA+E
70,0002 x4 53] 1,400
202 0o4dl 400 1,200 A800
01 2L AL 400 1,200 A800
oNe+g d PR =M
20,0003 28 10! 400
308 AHXIHMSO0IA 31,069 30,000 1,069
13 SI12S0He 4 A AS A 31,069 30,000 1,069
SXAIU Mel+2 SEAAE FAE
31,069,000 *13] 31,089
JUESEa 123,030 131,512 A\8,482
A= 106,530 12,792 N6,262
Het & A=Y 106,530 12,792 6,262
201 et 3| 74,490 79,192 N4, 702
01 At22t2l] 58,758 64,192 Ab,434
oZUtH & EEMAFT =2
130,000 * 100 13,000
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S£A: MSSIAH D
Zu: e
&2l SIAH2HE (SH &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
o3 HYRE ZI2H EYH Y
250, 0002 *200H 5,000
S Y BN BANE 72
61,0003 x5 *43| 1,220
ocENEEX P 20,0003 x42+ 123 960
olLiztEH 018 =+2(2F)
20,0002 59021 11,800
oHE I LM NTEE 72
20,0002 105+ 128 2,400
S ENEE PR
70,0003 7 B +53] 2,450
SHAAAY 25
130,000 x5 20 13,000
o3 HYR FA =g
8,000 & x6H 85 4,080
oZANMHAN A2 HHl =& =S|
8,000 x6% x55 2,640
cHIHA N2 EH| =& S|
8,000 3«62 x462 2,208
02 32| 15,732 15,000 732
S HS - BAMAL- 2Z X T2 KA
2 585,000& =123 7,020
oOtAIEAN ZE e SA 24
363,000& 123 4,35%
SHATE DIWAIAE S22
363,000& =123 4,35%
202 0idl 640 1,600 A960
01 =LHO4 b 640 1,600 A960
oHoBY YD EX
20,0002 x4 F 8 640
203 AR F=&lH| 31,400 32,000 AB00
03 Al FRIHRFAIY| 31,400 32,000 AB600
XYM HE U A =7
7,000,000& 42| 28,000
o3 YR FH S 850,000 x4=2 7| 3,400
SAR2)| 29 16,500 18,720 22,220
SA2)| 2Z 16,500 18,720 A2,220
201 L2 | 16,500 17,920 A1,420
01 At 22|l 16,500 17,920 A1,420
MRPELN HE =2
16,500,000 %13 16,500
Tiatzte| 1,975,177 2,363,482 A388,305
SN 2e| 360,522 217,770 142,752
32X 2l 341,602 197,250 144,352
201 Ler2 | 204,202 192,450 11,752
01 At 2telt] 13,050 19,050 6,000
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SN NP2 A D
B Qarze
Rl SSIHEE 2t EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
oBEXNY NEEZ o0IMA It A
100, 000& »5CH*42] 2,000
oBEXNY HIIZA 248
30,000 *25CH*12] 750
oREXIE I OE AR} 242
350,000& *32 1,050
CTEIE I (2 YRPE 248
200,000 & +5CH 1,000
oZEAE AcIEE 7Y
50,0002 *25CH 1,250
olildr 2HSRE E IIE MU &
A% m=H PY 300,000 * 102 3,000
c2HTLR TEIY 2Y =X 2
8,000& 2H 1252 2,000
o0 XtgF Xtz (1521E S)
250,000 +82 2,000
02 S22l 190,152 173,400 16,752
oZEXE USIHAl 100,000 ~BACH 8,400
oZEIEY 2= 700,000 +110CH 77,000
cZEIY BANM 223
50,0003 *20CH 1,000
o3 EXE =AM 1,500,000 «28CH 42,000
oZEXY 7F| 61,752
-3% 1,400 130 £ *23CH* 122 50,232
-S|eR 1,600& %120 £ *5CH 122 11,520
03 A2 1,000 0 1,000
oletd 2SR M=Uzl FIt A
HIE 1,000,000& %12 1,000
202 044l 2,400 4,800 A2,400
01 =LHoi bl 2,400 4,800 £2,400
oBENY 2HTLA BF Ol
10,000& x2E %120 2,400
405 KHAHF SH 135,000 135,000
01 ML ESFHSHI 135,000 135,000
o B EXE Y 45,000, 0003 *3CH 135,000
SRMA2 13,620 14,820 1,200
201 =3 12,420 13,420 A1,000
01 AFS2t2ltl 12,420 13,420 A1,000
STRIL ZHEIELR
700,000& x6A 4,200
oZRMY S 700,000& x6A 4,200
o SR Aolg| Aol
70,0003 x9Z #42] 2,520
oZRMA HE L M2 MARES
50,0003 *55*42] 1,000
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FA MR A
B Qarze
Rl SSIHEE 2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oEZFMA ARuF Aoz H HISAY
500,000 500
202 04dl 1,200 1,400 A200
01 2L AL 1,200 1,400 A200
oEF Mo AEjEol
10,0002 x2&E ~60 1,200
=32l 5,300 5,700 A400
201 2= 5,300 5,700 A400
01 At22telt] 4,700 4,700 0
ofFID S 2CIANAE AZF L AIRES 2
o 4,700
—CHEER 2503 %2, 500&+42 2,500
-HIZE 1,000 +1,000& 1,000
-MEEA S MRES
100,000« 12& 1,200
02 S5=2g4l 600 1,000 2400
oRFID SEIA! 2IHI] =& 7K
200,000 #33] 600
Atz 1,614,655 2,145,712 A531,057
AR A2l 1,321,323 1,296,712 24,611
101 212A4H| 58,986 56,469 2,517
04 JIZtN2 2N S 2+ 58,986 56,469 2,517
oA 22| JIZHNIZ2Z At 2124
9,860 x 1 *200A| 2+ 123 24,729
oFA g2l JIZtNZ2 T Zi2f=g
9,860 2 Al 2+*3002 +150% 8,874
oFAF Zacl JIZtHZ22 A 4UEE
24,729,000 *12% 2,968
oFAL 22| JIZHNZZ2X ElX S
2,800,000& %12 2,800
oFAt2te| SAIZIZZ2X 12|
9,860 x 1 *104Al 2t 12 12,306
oFArZe| HAIAZZEAN =2 RSE
9,860 *1& %1 Al 2t+300 *150% 4,437
oFARZC] HAIZZZX 4AUHES
12,306,0002 *12% 1,477
oFARZE HAIUZZ2A B XS
1,395,000 %13 1,3%
201 er2 3| 1,229,617 1,157,043 72,574
01 AtR2t2|HI 172,048 181,048 29,000
oA otM 2| S 42,800
“EAF BD|E 2] BY
900,000& *122] 10,800
CEAF AUOIEBE| B
600,000& * 122 7,200
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2A: NI A

M THAH2E]

S| A2 (EEEE))
B . O (B1H) - NIRALY - BAS Ofl by G o MimE=EY
“E AL AiotE e B9 (28, S01)

10,000,000& *23| 20,000
SEAF 22| oEEE| B
400,000& 123 4,800
oFA HHEAS 500,000 *x83] 4,000
o XISHIIE HA Y E24Xl M
3,000,000 *13] 3,000
o8] AF=Z(OHE) A
3,000,000& *13] 3,000
oAl 283 HASS
2,500,000& *23| 5,000
oAl BATHIE 2, 312 7Y
127,5002x 105+ 128 15,300
oXHA HA B2 5,000,000& 43| 20,000
oH|dl, dxJ| & Xz X2
3,000,000 %123] 36,000
oXAI2L EEFL 34,383
EA BEA B4 T P
425,000 x 128 5,100
A 2218 X 2L
1,700,000 & *43] 6,800
HA BRI HDIZE 7Y
1,040 x2500H 128 3,120
-EAF SEA FEX 2L
722,500+ 12& 8,670
A &4 HEEIES P2
297,500 128 3,570
-EAF &AL grEkyl 2
8,000 x18JHx 128 1,728
~HA ZFS 59, il 2
500,000& *43] 2,000
AR, B0 F24 HE ZEI| 7Y
8,000 =425} 3,400
o222t AE 22l 200,000& 128 2,400
CRHAl BELUBY =7
1,000,000& *x13] 1,000
oFAIZLI R YstEE Y
200,000&*3H*13] 600
oZBRMMA L HAIRZZIE R =& Z2FH|
8,000 & x5H * 114 4,560
S22 | 1,057,569 975,9% 81,574
oFAL M2 264,000
-ANEE 22,000,000& x12& 264,000
o2 A BBRL2= 35,0003+ 12& 420
oF Al ABIEE 2 24,000
-AMNE= 2,000,000&~12& 24,000
o XA ZHlald] 700,000,000 *13] 700,000
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FA MR A
B Qarze
el ARz EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oA 2L M2 1,000,000 «2H 2,000
SEAL I FHI 90,0002 *100CH 9,000
oEHAF A€ 38l R
3,000 +8,453m 25,359
oA BI £¢| 780,000 +2K 1,560
oA 2B+ EEo LA
2,000, 0002 %43] 8,000
CEA TF4 ®F N
7,500,000& 12 7,500
ottgtEae ZADIARS 16,730
DAL ZADIA MBS
1,100&*13,000m’ 14,300
—ZtAF SAIDIA AL EZE
1,100 1,300m’ 1,430
202 04| 2,720 3,200 A480
01 201l 2,720 3,200 480
CTRMA U HATRIAD FA
10,0002 «4 & ~68L 2,720
405 AHaHE = 30,000 80,000 /50,000
01 It =S F = 30,000 80,000 50,000
oAl =2HIS WA 10,000
- MRS A
500,000 +8HK 4,000
== 2k S uwH 300,000& »20H 6,000
oA HIS 72
5,000,000 4 A 20,000
sHHES AR Ot 75,000 186,000 A111,000
401 AIEHIX SO 75,000 186,000 A111,000
01 Al&H| 75,000 186,000 A111,000
oA == AIEE 2+ SA
60,000,000& 60,000
oz ALY S A B3 A AAIEALI
3,000,000 +5H 2= 15,000
S8 FArzel 66,500 633,000 566,500
401 Al HIZL 201 55,500 568,000 A512,500
01 Al&HI 55,000 566,000 A511,000
oSH HHSXHH RAEE B
5,000,000 * 1190 £ 55,000
03 AIZSTHYI 500 2,000 21,500
oF - H MI=SKHH 2= 500,000& 500
405 KHaHE SH 11,000 65,000 54,000
01 Tt ESF=H 11,000 65,000 254,000
S 8 HISANHEH == MRHIS S 7
& 1,000,000& 115 11,000
Ol &= 151,832 30,000 121,832
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FA MR A
B Qarze
el ARz EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 151,832 30,000 121,832
01 A&t 151,832 0 151,83
o3l HA AESX HHBA LB
140,500, 0002 *8.38% 1,774
o215 AL AFFX EHSA
150,000 x753m* 112,950
oolsl HA AEEX HII2 8
180,000& 753" x0 . 2& 27,108
HH2LZHI(MR3AH D) 181,563 176,811 4,752
= 23,410
s 158,153
el 23 117,603 112,911 4,692
= 23,410
Ea 94,193
el 24| 66,013 64,911 1,102
101 @124H| 66,013 64,911 1,102
01 &= 66,013 64,911 1,102
oA2e 2R4+Y(2HBLY)
11,3192 x4 *1BAI 2t 123 9,780
SAlZtel 24y
11,3192 x232 *18A| 2+ 123 96,233
IHE =S JFAXZAL 2124 XI& 51,590 48,000 3,590
= 23,410
Ea 28,180
101 @124H| 46,645 43,400 3,245
= 21,160
= 25,485
03 SR (RINHA) 222+ 46,645 43,400 3,245
Si== 2,150,000 «1H*12& 25,800
= 11,700
Ea 14,100
oMRrY 160,000& x 12+ 123 1,920
= 870
o 1,050
oIlESe 40,0002 <1122 480
= 220
= 260
S Sat=t 2,150,000 %12 *400% 8,600
= 3,890
o 4,710
odI2sE 2,150, 0002 x 12 %23 x35% 1,505
= 690
Ea 815
oHESIHI 2,150,000 x 12 %25 +60% 2,580
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2A:

N3] H 2t

M HYRAZHI(MPEAHL)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,170
s 1,410
oA2te2eg
16,0002 * 1H*20A| 2+ 12 3,840
= 1,750
o 2,090
oI A 12,0002 «BA| 2H* 1820 1,920
= 870
Ea 1,050
04 HSRESS 4,945 4,600 345
= 2,250
[Ea 2,695
04 SR (RIH )22 BEE=RES S 4,945 4,600 345
oi=EER 43,000,000& 4. 5% 1,935
= 880
o 1,095
oHAESER 43,000,000 *4% 1,720
= 780
T 940
o8 & MHEER 43,000, 000& *3% 1,290
= 590
[Ea 700
=38l 63,960 63,900 60
JI23Hl 63,960 63,900 60
201 fer=3| 20,380 20,380 0
01 AtR2t2|HI 20,380 20,380 0
ody ANFES S 223
15,0002 105122 1,800
cdISF 250,000& 22 500
odigs)l &= 50,0002 62 300
oXel & SA EH
250,000 *8LH*4H 8,000
o ZAEX 25,0003 »158t A% 123 4,500
oHZ A= 5,280
-S2Al 20,0008 +x72x 122 1,680
- 15,0002 x20=* 122 3,600
203 =4l 43,580 43,520 60
01 D22 HARFA| 38,300 38,300 0
oz 9,575,000& *4=2 7| 38,300
M EA2HER=AH 5,280 5,220 60
=302l =t
(400,0002+(5,0002 x84 ) )« 12& 5,280
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